Name

Plot each ordered pair. Connect them in order (down the columns), stopping the continuous
line only when you get to a "stop”.

(1, -11) (8,-7) (-9, -5) 1, 14) 1, -11) (12, 5) (5, 3)
(3, -15) o (7,-3) - (-10,-7) 1 (10,10) stop I stop I 6,4)
(4, -11) (5, -8) (-10, -1) (11, 9) (6, 6)
5,-14) | 53 | 11,3 | @27 | @ | @5 | (@6
(7, -11) (3, -8) (-11, 1) (12, 5) 9, -1) (9, 4) (3, 5)
@14 | @6 | 2y | s | ©2) | @3 | stop
9.9 | 1) | (122 | (@52 | stp | (53
(10, -11) (1, -15) (-10, 6) (15, 0) (3, 4)
(10,-8) | (0.-11) | (125 | (4-2 | (5.0 | (.5 |
(11, -11) (-1, -15) (-8, 10) (12, 0) (4, 0) (-1,7)
(12,-9) | (-2,-10) | (6,11) | 10,1 | G | @G7 |
(12, -8) (-3, -14) (-9, 11) (8, 1) (3, 2) (6, 6)
9, -2) (-6, -12) (-3, 13) 3, -2) 9, 3) 9, 4)
9,5 | (7,-8 | @13 | @-4 | @0,4 | stop |
8.-3) , (-8-10)  (1L,14) | @-7) , (10,6 |
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